
Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!

!

Kufenlandegestelle XLV-Trainer
Ord.No. 260/20 (K)

260/32

90055
M3x8 (S)

3/3

Ord.No. 11/87 
Ø1,8mm

90330
2,2x6,5

10/04

(K)

722/2

Ord.No. 90565
4,3x12 90545

3,2x9

Ord.No. 
107/27

Ord.No. 90565
4,3x12

Ord.No. 90535
M4

Ord.No. 
060/30

Ord.No. 70/142
M3x142

90120
M3x40

Ord.No. 11/73
Ø2,8mm

Ord.No. 
107/31

2x

(S) Ord.No. 10/24
(K) Ord.No. 10/26

Ord.No. 90160
M4x18 (S)

Ord.No. 90160
M4x18 (S)

Ord.No. 90565
4,3x12

90545
3,2x9

(K)

90055
M3x8 (S)

3/3

90330
2,2x6,5

3/3

110
Ord.No. 11/87 
Ø1,8mm

722/2

90055
M3x8 (S)

3/3

260/31 90545
3,2x9

260/14

(K)

Ord.No. 90565
4,3x12

260/31

90530
M3

Ord.No. 90150
M4x14 (S)

90530
M3

90055
M3x8 (S)

260/32

260/1


